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Chapter-1

1

Hard water for public water supply is discarded because
a-It consumes more soap
b- It contains lot of turbidity
c- It contains pathogenic bacteria
d- It possesses bad taste and odour
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Ans-a

The most ideal disinfectant used for drinking water throughout the world, is
a- Alum

b- Lime

c- Chlorine

d- Nitrogen
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Ans-c

Which of the following are surface sources of water?
a-streams

b-ponds

c-lakes

d-all of the above
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Ans-d

Which of the following are not surface sources of water?
a-streams

b-ponds

c-lakes

d-springs
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Ans-d

Which of the following are not ground sources of water?
a-streams

b-infiltration galleries

c-wells
d-springs
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Ans-a

Which of the following are ground sources of water?
a-porous pipe galleries

b-infiltration galleries

c-wells

d-all of the above
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Ans-d

The development, reliability and quantity of water mainly depends on
a-selection of the site for the collection works

b-preparation and control of the catchment area

c-design, construction and maintenance of dams
d-all of the above
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Ans-d

Water is required for which purpose?

a-for drinking and cooking

b-for bathing and washing

c-for fire fighting
d-all of the above
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Ans-d

For the reliability of water works it is necessary that the source of water supply
should be

a-intermittent

b-variable

c-permanent
d-all of the above
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Ans-c

Which of the following are water-borne diseases
a-typhoid fever

b-bacillary dysentery

c-cholera

d-all of the above
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Ans-d

In mountainous regions are formed by runoff.
a-streams

b-lakes

c-rivers
d-ponds
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In mountainous at some places natural basin are formed with impervious

beds
a-streams
b-lakes
c-rivers
d-ponds
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___are born in the hills, when the discharge of large number of springs and streams
combine together.

a-streams

b-lakes

c-rivers

d-ponds
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Ans-c

__aredepression in plains like lakes of mountains, in which water is collected
during rainy season.

a-streams

b-lakes

c-rivers

d-ponds
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Ans-d

Under which conditions construction of imponded reservoir is not feasible
a-when the average annual flow is lower than the average demand

b-when the rate of flow in the streams in dry season is more than the demand
c-both aand b

d-none of the above
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Which of the following points should be considered while deciding the site for the
location of imponded reservoir?

a-site where the width of river is narrow

b-site where sufficient quantity of water is available

c-site should be such that water can flow simply under gravity

d-all of the above
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Ans-d

The capacity of storage reservoirs depends on:
a-rates of inflow

b-demand

c-outflow

d-all of the above
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Ans-d

Dry year means:

a-Inflow was minimum
b-Outflow was minimum
c-Inflow and outflow are same
d-None of the above
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Ans-a

Deposition of all the materials is the bed of the reservoir, transported by flowing
water is known as:

a-sedimentation

b-infiltration
c-suspension
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d-all of the above
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Ans-a

Which of the following is the relative order of reliability for water works?

a-the water should be taken from permanent surface or ground surface

b-water should be taken from sufficient large imponding reservoirs

c- water should be taken from imponding reservoirs at low level
d-all of the above
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Ans-d

Those streams which dry up in summer and contain water only during rainfall are
known as:

a-raining streams

b-running streams

c-runoff streams

d-all of the above
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Ans-a

Water from springs and streams generally flows towards basin called:
a-streams

b-lakes

c-ponds

d-rivers
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Ans-b

The quality of ___lakes is good than that of the __lakes
a-large, small

b-small, large

c-medium, small

d-large, medium
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Ans-a

___are the only surface sources of water which have maximum quantity of water.
a-streams

b-lakes

c-ponds

d-rivers
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Ans-d

Which of the following points should be considered while deciding the site for the
location of imponded reservoir?

a-at the site, bed soil should not contain soluble salts, minerals which may affect
the quality of water

b-watershed should be free from swampy areas

c-the reservoir area in the flood zone should contain little marshland

d-all of the above
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Ans-d

When water is stored for long time in reservoir
a-it should be covered by roof

b-it should be aerated

c-it should be chlorinated
d-both b and ¢

R SOUANHL Aioll uHA Yol wellell e sraumi A d
A-d O Gl WAl Qe vadl AgA

ol-Q awyysd 8lg KA

Al-Q sARlA2s &g A

Sl-ola ofl ua Al

Ans-d

In determination of reservoir capacity with the help of hydrograph, in case of large
reservoir___

a-daily inflow rates are calculated

b- monthly inflow rates are calculated

c- yearly inflow rates are calculated

d-all of the above
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Ans-b

In determination of reservoir capacity with the help of hydrograph, in case of small
reservoir

a-daily inflow rates are calculated

b- monthly inflow rates are calculated

c- yearly inflow rates are calculated
d-all of the above
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Ans-a

In determination of reservoir capacity with the help of hydrograph, if the yield
curve is above the consumption curve it indicates that inflow of water is___ than
the demand.

a-more

b-less

c-bothaandb
d-none of the above
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Ans-a

In determination of reservoir capacity with the help of hydrograph, if the yield
curve is below the consumption curve it indicates the deficit which is to be met out
by storingthe

a-surface water

b-surplus water

c-ground water

d-none of the above
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Ans-b

The maximum cumulative total deficit is determined from the hydrograph, which is
equal to the

a-maximum storage capacity of the reservoir



32

33

34

b- minimum storage capacity of the reservoir
c- actual capacity of the reservoir
d-all of the above
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Ans-a

In determination of reservoir capacity with the help of mass-curve, when the total
yield is more than the total consumption, the mass curve of yield remains
a-below the mass curve of consumption

b-above the mass curve of consumption

c-between the mass curve of consumption

d-none of the above
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Ans-b

In determination of reservoir capacity with the help of mass-curve, when the total
yield is less than the total consumption, the mass curve of yield remains

a-below the mass curve of consumption

b-above the mass curve of consumption

c-between the mass curve of consumption

d-none of the above
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Ans-a
Algae, weed and plant growth in water giving a
a-colour
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b-test
c-bothaandb
d-purity
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Ans-c

Surface waters are generally __ than ground water.
a-soft

b-hard

c-corrosive

d-all of the above
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Ans-a

Surface waters are generally __ than ground water.
a-clear

b-hard

c-less corrosive
d-all of the above
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Ans-c

Which of the following are duties of water works engineer?

a-he must be well conversant with the planning, designing, construction,
maintenance and operation of water works

b-he must be capable to design the water works scheme

c-he must be capable to operate the water works without fail

d-all of the above
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Ans-d

Which of the following are duties of water works engineer?

a-he should be able to the laboratory tests of the sample of water

b-he should be able to alter the purification method

c-he must keep himself aware of the latest techniques and methods of purification
d-all of the above
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Ans-d

Which of the following are not sources of underground water?

a-springs

b-wells

c-lakes
d-infiltration wells
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Ans-c

How many types of wells are there?
a-2

b-3

c-4

d-5
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Ans-b

Which of the following are types of dug wells or draw wells?

a-shallow wells
b-deep wells
c-spring wells
d-bothaand b
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Ans-d

Dug wells also known as:
a-draw wells

b- deep wells

c- shallow wells

d- spring wells
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Ans-a

Which of the following is not sources of surface water
a-ponds

b-wells

c-lakes
d-imponded reservoir
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Ans-b
How many types of distribution system are available?
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b-3
c-4
d-5
Ans-b
45 Water from the district water mains followed by
a-consumers
b-waste water
c-branches and service pipes
d-all of the above
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46 Water from the branches and service pipes followed by
a-consumers
b-waste water
c- district water mains
d-all of the above
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Ans-a

47 Water from consumers followed by
a- branches and service pipes
b-waste water
c- district water mains
d-all of the above
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Ans-b
48 Which treatment should be provide after collection work
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a-plain sedimentation
b-sedimentation with coagulation
c-filtration

d-all of the above
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Ans-d

Who said “Best of all things is water”
a-pindar

b-wankle

c-kernel
d-nelson
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Ans-a

In old days, drinking water keep in___ vessel
a-copper

b-lead

c-aluminium

d-all of the above
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Ans-a

Infiltration galleries may be constructed with masonry or concrete with weep holes

of _?

a-10 cm*15 cm
b-15 cm*20 cm
c-5cm*10 cm
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d-5 cm*15 cm

Ans-c

Infiltration galleries with the yield of 1.5 * 10* litres/day/metre are also known as:
a-vertical walls

b-stable walls
c-horizontal walls

d-all of the above

Ans-c

Dug well also known as:
a-open well
b-percolation well
c-draw well

d-all of the above

Ans-d

Which of the following is not considered as well depending on the method of
construction?

a-dug well

b-tube well

c-curb well

d-driven well

Ans-c

Chapter-2
1 Consider the following statements.
i. The arithmetical increase method is suitable for new cities

ii. The decreasing growth rate method is used where the rate of growth shows a downward
pattern

iii. The geometrical increase method is used for older cities

Which of the following above statements is/are correct?

a- 1, i, iii
b- i and iii
c- Only ii

d- ii and iii
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a- i, ii, iii

b- i e i

Al- g5t ii

d- ii el i

Ans-c

2 Which method is suitable if the growth rate is decreasing and the population is

reaching towards saturation?

a- Arithmetical increase method
b- Graphical comparison method
c- Zoning method

d- Decreased rate of growth method

ol ol €2 Ul &N B U clell AL s U WL B Al 58 ugld 20A &2
A- wsoRlA A ugld

ofl- st wRuHel ugld

Al- Aot ugla

- gla usldall walsl €2

Ans-d
3 The main disadvantage of hard water, is

a- Greater soap consumption



b- Scaling of boilers
c- Corrosion and incrustation of pipes

d- All the above
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Ans-d
4 ___litres/day/capita required for bathing in average domestic water consumption
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a-60

b-55

c-70

d-75

Ans-b

5 Per capita demand of water is calculated in liters

a- Per person per day

b- Per person per month

c- Per person per year

d- None of these
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Ans-a

6 Estimates of a water supply project depends upon the rate of water supply per capita
consumption and probable population estimated at the end of the design period of

wRll Yasl Ylwseall WELS, HIAULELS cUR(letl cluR(2lell Yablall £ AMa
[Baieetoll wci@oll id viely daldd credl R AURd B.

a-5to 10 years
b-10 to 15 years
c-15 to 20 years
d-20 to 30 years
Ans-d

7 The population of a city in 2000 is 50,000. The average per decade of the previous
records of population is 5000 and average percentage per decade is 20%. The population of
the city based on geometrical increase method, in the year 2020 will be

2000 Hi 2&0{l clrcll 50,000 B. cc(lotl UEL 81Ul EL2ASL €16 ARRALU 5000 Aol
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a-56,000

b-60,000

c-64,000

d-72,000

Ans-d

8 How many types of water demand are there?
ulelle(l Hiol decl 82

a-5

b-6

c-7



d-8
Ans-a

9 ___litres/day/capita required for washing of cloth in average domestic water
consumption

(@22 / Rau / wanels uRpAA U Wellotl cupgAML stus ol HI2 %331 B
a-20

b-25

c-35

d-40

Ans-a

10 ___litres/day/capita required for cooking in average domestic water consumption
(@2 / (Rau / wanels R e Wellotl duRpAML A M2 %331 B
a-5

b-10

c-15

d-20

Ans-a

11 ___litres/day/capita required for washing of utensils in average domestic water
consumption?
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a-5

b-10

c-15

d-20

Ans-b

12 Generally allowance of __ % of the total quantity of water is made to compensate for
losses, thefts and wastage of water.
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b-25

c-15

d-10

Ans-c

13 Per capita demand = litres/day?
HALElS Hidl = ([@QeR 7 Rart?

a-Q/(P*365)

b- P/(Q*365)

c- Q*C/(P*365)

d- Q*n/(P*365)

Ans-a

14 Which of the following points should kept in mind while fixing the design period:
a-funds available for the completion of the project

b-life of the pipe and other structural material used in water supply scheme

c-anticipated expansion rate of the town

d-all of the above
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Ans-d

15 How many methods are available for forecasting of population?
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a-10

b-9

c-8

d-6

Ans-b

16 Incremental increase method is improvement over which methods?
a-geometrical increase method

b-arithmetical increase method

c-decreasing rate method

d-bothaand b
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Ans-d

17 Which of the following factors affecting water demand?
a-climatic condition

b-size of the community

c-living standard of the people

d-all of the above
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Ans-d

18 Which of the following factors affecting water demand?
a-industrial and commercial activities

b-system of sanitation

c-pressure in the distribution system

d-all of the above
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As AAELs ol Ul ygal

AR22Uateoll Rireu

QR yeudlHiner

Sl-GURall vl

Ans-d

19 Which of the following factors not affecting water demand?
a-industrial and commercial activities

b-system of sanitation

c-design period

d- pressure in the distribution system

o{lActtHiell sl URB AU WRlo(l HidlA AR 5l otell?
As AUAELs U Ul ygal

ARl Rireu

Al Boiget AH20100

Sl- (AR yeuelHl ecuat



Ans-d

20 If the water cost is more,

a-less quantity of water will be used by the people
b- more quantity of water will be used by the people
c-both aand b

d-none of the above

ol WRlloll Wl culR 8,

AL gLL A9l HIUHL WRllell Gl sl ALad
ofl- wellell ay yrel Asl Guallol $:3

Al-cial A uA ofl

Sl GuRall 585 o3l

Ans-a

21 ___litres/day/capita required for industrial purpose for an average Indian town
(@2 /7 Rau / wanels R cRcla 28R Hi2 wAbls 3q MR %33 B
a-45

b-40

c-50

d-55

Ans-b

22 ___litres/day/capita required for public use for an average Indian town

A2 eRcllal A3 HE2 182 GUAL HIZ _ (A2R / Rad / Hauels w33l ®
a-25

b-30

c-45

d-55

Ans-a

23 ____litres/day/capita required for public use for an average Indian town



AR ellRclal 282 MR @2 Gualol M2 (A2R / Rau / Haulls %33l B
a-25

b-30

c-45

d-55

Ans-a

24 ___litres/day/capita required for business or trade for an average Indian town.

AR ellRcl2 232 M2 AUR AU AUR HEZ _ [@eR 7 Bau 7 wadls
uARLs B

a-15

b-20

c-25

d-30

Ans-a

25 ___litres/day/capita used in losses, wastage and thefts for an average Indian town

U2 etrcdla 280(l v, oous wA WML ([@AeR / [Bad 7 watgls Guaiol
aA B,

a-40

b-45

c-55

d-60

Ans-c

26 In which method population is increasing at a constant rate?
a-geometrical increase method

b-arithmetical increase method

c-incremental increase method

d-simple graphical method

585 Ul crcdl At €2 atll 8l B2



As s au usld
o{l- 5@l R ugld
A-8os1Noed aul ugld

- AEset ugld

Ans-b

27 In which method percentage increase in population from decade to decade remains
constant ?

a-geometrical increase method
b-arithmetical increase method
c-incremental increase method

d-simple graphical method

elastell elast Ylloll aucdlul 58 uslaui estadloll aul Acd @ B2
As dAl@As auR usl

o{l-uiso@lct cau ugld

A-8osl Nzt atl usld

- AEset ugld

Ans-a

28 In which method average decrease in the percentage increase?
a-geometrical increase method

b-arithmetical increase method

c-incremental increase method

d-decreasing rate method

eslal Ml 585 UglQul U212 Yaldl 28 8?2

As Qs auR ugld



o{l- 5Bl R ugld
A-8os1Noed aul ugld
-uedl €2 ugld

Ans-d

29 In incremental increase method: Pn=P + n (la + Ic ) where la stands for
a-average arithmetical increase

b-average incremental increase

c-present population

d- average geometrical increase

auRprell g ugldui: Pn=P +n (la+ Ic) >l la cAURAA &
U s U

ofl-uRA2 AR AR

Al-cixcll

Sl- ARRA2 ARAUASs At

Ans-a

30 In incremental increase method: Pn=P + n (la + Ic ) where Ic stands for
a-average arithmetical increase

b-average incremental increase

c-present population

d- average geometrical increase

lgell gERell UuslAni: Pn=P +n (la+ Ic) %l Icoll A B
U9 BidUQLt A
ofl- 43212 cuRell A

Al-ardl



Sl- w22 lAAs At

Ans-b

31 Formula used for incremental increase method:
511 clell GUAL Rl AR Ugld 1R

a-Pn=P +n (la + Ic)

b- Pn=P + n (la + 1b)
c- Pn=P*n + P (la + Ic)
d- Pn=P*n + P (la + Ib)
Ans-a

32 Formula used for geometrical increase method:

Al@@s gl usld ue aurRda sue:

a- Pn=P(1+(lg/100*Ic))n

b- Pn=P(1+(Ig/100*Ic))n

c- Pn=P(1+(lg/100))n

d- Pn=P(1+(1g*100))n

Ans-c

33 In geometrical increase method: Pn=P(1+(lg/100))n where Ig stands for
a- average percentage growth

b- average incremental increase

c- average arithmetical increase

d- average geometrical increase

AlAQs aul usl@ui: Pn=P (1+ (Ig/ 100)) n %2l 1g ®
A- WA 2staldl gls

ofl- AR ARl AR

Al- urReL sl aud

- u222 dll@Qs auRd

Ans-a



34 In geometrical increase method: Pn=P(1+(lg/100))n where P stands for

a-average arithmetical increase
b-average incremental increase
c-present population

d- average geometrical increase

ARAs aw uslQHi: Pn=pP (1+ (Ig/100))n&AL Pl Al B
SRR ER B ERCIR

ol dtRpel auR

Al-adl

- RN dA@As au

Ans-c

35 On an average basic, requirement of water demand expressed as :
a-litres/capita/month

b- litres/capita/year

c- litres/capita/day

d-none of the above

AR Yoo, wlloll Hiotell 23R2Ud YHO casl Al B

A-@AeR 7/ WaAls / 1A
ofl- @22 / Hagls 7 ax

Al- Q2R /7 waéls / Rax

Sl GURall §¢ ol

Ans-c

36 Per capita demand= Q/(P*365) litres/day where Q stands for
a-total quantity of water required

b-quantity of water required

c-total population of the town



d-none of the above

HaUEls HioL = sy / (Ul + 365) Q2R / Ra >l =y R
uellell s weel

boseell well %33l ®

Ad0{l -l

Sl GuRall 585 o3l

Ans-a

37 The number of year for which the design of water works have been done is known as
a-design time

b-design path

c-design period

d-all of the above

dle? aduell Saset sau ay W saunl wudl ® A Rl &
As (SAEel UM

ol Bt wat

Al (Bst8set UM

Sl-GuRall wul

Ans-c

38 What is design period?

a-The number of days for which the design of water works have been done

b- The number of months for which the design of water works have been done

c- The number of year for which the design of water works have been done

d-none of the above

(BBt AU g B?

A-A ool 2vall ¥ Bott 1 wellett stlle(l SBL8et sl wll ®



ofl- Jectl HEaARA ¥ Botl 12 Wl stlell (S8et sauul vl ®
c- aAlofl duall ¥ Boll HI2 Wllott sl (3R8et scUHl w1l B

Sl GuRall 585 o3l

Ans-c

39 During forecasting population, when the design period is fixed the next step is to
determine

a-quantity of water required by population
b-to determine the population
c-to determine the areas

d-all of the above

wUElell cirell €M aulet, R (3880t Wl otssl sRaUHL WA B RUR WL
uwalg A oissl s2clle] B

el gLt %331 wgllell el

ofl-clrcll otssl sRall

A-[QRcUR atssl sRal

Sl-GuRall vl

Ans-b

40 The master plan method is also known as
a-zoning method

b-comparative graphical method

c-graphical method

d-all of the above

HIR2R Wellol Ugld uel 33 Qv

As Aol ugld
ol qeteticts A3se usld

A-aulssd usl



Sl-GUReil vt

Ans-a

41 The apportionment method is also known as
a-zoning method

b-ratio method

c-graphical method

d-logistic curve method

(Qewesst ugld uel 33 AW
As Aol usld

ol 9100dR ugld

Al-aulgset usld

S-ARRs anis usld

Ans-b

42 Demand of water varies from
a-season to season

b-hour to hour

c-bothaand b

d-none of the above

wellefl it WAL WAL Sl &

As Yoet Yot
oll scs Al scls
Al-vial A wa oll

Sl GURall §¢ ol

Ans-c
43 In which season water demand is maximum

a-summer



b-winter
C-monsoon

d-all of the above

A wWelle(l Hiol HedH sl B
A5 Gotlol
ofl-Rlauot
Al-AHy
Sl-GURell v

Ans-a

44 The rate of water consumption increases with__
a-increase in the pressure of the building

b- decrease in the pressure of the building

c-bothaand b

d-none of the above

A WRlell auRiel €2 afl B
Uslotoll EMIRHL ctlRA
ofl- Hslototl EWQHL ULSL
Al-olal A wa ofl

dl GuRall 585 ool

Ans-a

45 ___litres/day/capita required for washing and cleaning of houses and residences in
average domestic water consumption

(@2 / Rau / wanels R U WRll cuRjAAHL U Wal [Rlaiil dal U
UG scl HIE 33 B

a-5



b-10
c-15
d-20
Ans-b

46 ___litres/day/capita required for flushing of latrines etc. in average domestic water
consumption

(@2 / Rau / wangls uRRpA2 u Wil augaMl ARet dadl? sAal s:cl
H2 %33l B

a-5
b-10
c-30
d-20
Ans-c

47 For an average Indian town, total quantity of water required by the town per day shall
be __litres/capita/day multiplied with the total population

AR ellRcla 23R M2, ABR GlRL €A% %33 WRllell w2l (A2 / HEls /
R ctoll set acllell opust: vl

a-335

b-320

c-270

d-265

Ans-c

48 The population are increased by
a-increased by births

b- increased by annexation

c-increased by migration

d-all of the above

il il ®

%ol GlRL Ll Ul B



ofl- 1Sl Ll At U0 B

RWALAR gl Al aw g

Sl-GURell oltl

Ans-d

49 Which of the following statements are /is not correct?

a-The arithmetical increase method is suitable for new cities

b-The decreasing growth rate method is used where the rate of growth shows a downward
pattern

c-The geometrical increase method is used for older cities

d-bothaand c

o(lAsuiedll 523 [Quuet 200U otell?

W-35oQct Attt Ugld otall ASA M2 20U

oll-uedl gl& €2 uglQoll GuAol A B Ul gl €2 o{lAo(l Vol €20A &
A-cllAAs awA usldell Gualal ogell 2ASRA M2 Al B

Sl-oial A wa Al

Ans-d
50 The data have been noted from the census department given below in table.

Forecast the population by means of arithmetical increase method for the year 1970

sl sHl olA WAA 2RLA3] [Qetdt iRl 32t ol Hi el .

o 1970 HI2 2@l atltA Ugld gl crclell wuoudl

Year 1940 1950 1960
Population 8000 12,000 17,000
a-Pn=21500

b- Pn=21600

c- Pn=21800

d- Pn=22500

Ans-a



51 Formula used for arithmetical increase method:
U5IUR A AUA Ugl@ HE duAAA e
a-Pn+nC

b- Pn + n C*q

c-n+PnC

d-Pn+QC

Ans-a

True /false

The arithmetical increase method is suitable for new cities. false
B $oRlt Al UglA otall 2ASA HI2 AU B,

The decreasing growth rate method is used where the rate of growth shows a downward
pattern true

decll g(& €0l ualdoll Gualol R aa B Ul glg e eolad B

The geometrical increase method is used for older cities false

et AdA 12 Qs aw ugldell Gualol at &

The rate of water consumption increases with increase in the pressure of the building true
Aottt gottaHl Al Ul WLl duRLlell ERHL ALl WA B

Demand of water varies from season to season True

URlle(l Hiol ARt ARt et ®

Per capita demand= Q/(P*365) litres/day where Q stands for total quantity of water
required True

HLaels Mol = sy / (Ul + 5365) (A2 / Rart »al sy 331 wllel st oseal
Heall &

55 litres/day/capita used in losses, wastage and thefts for an average Indian town

55 Indian town (@22 / Rcldt / Hiautels ARRAA elRclal ABR HI2 ofslet, (OIS
U AR auRld B True

15 litres/day/capita required for business or trade for an average Indian town True



15 ARAA Rl A3 HE AUR AUl AUR HI2 15([@A2R / Rad / Haléls
ULRLS B

Per capita demand of water is calculated in liters Per person per day True
wWQlell Haels Hiotell ot Rau €ls calsal €ls (@Ml scuHl wa B

Decreased rate of growth method is suitable if the growth rate is decreasing and the
population is reaching towards saturation True

[Astx €0 walsl €2 Ao B A gl& €2 Ul @l ® wal crell A dR$
uglAl 28l B

Chapter-3

1 Depending on the sources of water, how much types of intakes are there:

ULR(lotl B AoAl AU, UL 32l YsLRell SoosU B:

a-4
b-3

c-6

d-5

Ans-a

2 Which of the following is not types of intake works ?
a-lake intake

b- sea intake

c-canal intake

d- river intake

Aot Hil sUL USRall Bo2s ab tell?

W-As Bol2s



ofl- eRauE sozs
Al ¥ollet 8ol s

Sl- atéle] Bol2s

Ans-b

3 Which of the following are types of intake works ?
a-lake intake

b- reservoir intake

c-canal intake

d- all of the above

ol ActHigll sl YsRell Boos ab &2
A-As Boles

ofl- wnu2Ue] Bol2s

Al Jolcd Boles

Sl- GURell vl

Ans-d

4 Which of the following points kept in mind while selecting a site for intake works:
a-the best quality of water should be available

b-at the site, there should not be heavy current of water

c-the site of intake should be easily approachable

d-all of the above

gotes sl MR ABe UAE sl awa ollAetl YarAHil saul LaulatHi AL
uiRllell A opatal Guas &ldl AR
ofl-ase uR, ulellell et yale of ldl A

Al-8oesoll A2 AU USRI asla Aqg &ldl s



Sl-GUReil vt

Ans-d

5 Which of the following points kept in mind while selecting a site for intake works:
a-the site should be such that intake can draw sufficient quantity of water

b-site should be near the treatment works

c-the site should not be located in the vicinity of the point of sewage disposal

d-all of the above

gotes sl MR ABe UAE sl awa ollAetl YarAHl saul LaulatHi AL
A-Aee A 8l ASA 3 Botell Actotell Yol Y well il o
ol-ae ARAReL siHoll ots Sl KA

Al-wse aeell [Asiestl (gl asHi sl WA el

Sl-GURell v

Ans-d

6 Which of the following points should not kept in mind while selecting a site for
intake works:

a-the site should be such that intake can draw sufficient quantity of water
b-site should be away from treatment works
c-the site should not be located in the vicinity of the point of sewage disposal

d-all of the above

gotes sl MR A2 UAE sl ara o{lAstimidll sl Y&l LulelHl AU ASA
0‘1{751':

A-As2 Al sl ASA & Fotldll Actotell Yt el well 2udl o
ofl-ue ARAReA sl g2 8l HSA
Al-wse aeRell [Asicatl (gl asHi slcdl K o8l

SI-GURell ¢ul

Ans-b



7 Which of the following points should kept in mind while design of intakes:
a-intake should have sufficient self weight

b-sufficient factor of safety should be taken

c-the foundation of intakes should be taken sufficient deep

d-all of the above

gotesoll Uil $cll Awld o{lAstl eIl sl tuletl A ASA:

A-goles Hl YR el detl 8lg A

AU ol valtd URana A SN

Al-8oesall Ul Yl Sl A A

Sl-GuRall vl

Ans-d

8 Which of the following points should kept in mind while design of intakes:

a-screen should be provided on the inlets

b-the inlets of intakes should be sufficient size and allow required quantity of water to enter

c-bothaand b

d-none of the above

gotesal AU scll avtd o{lAtl YarAHil sl taulotHl Awg HSU:
s Wlol BolAe™ UR YElot 5c[l sleSal

o{l-8olAauoll Bol@U Yol UHIRML Slal A wal 2331 HiouHl well ydata
U2 uRaled(l i B

Al-cial A U ofl

Sl GURall §¢ ol

Ans-c
9 Which of the following are the advantages of river intake
a-no obstruction to the navigation

b-no danger from floating bodies



c-no trouble due to ice

d-all of the above

LAt Hil sUL ALloAl Bot2Soll SIRAEL B

ALQN AL 8185 WA otell

ol-dRcll Yzl 818 etastell

-oRsal Al 818 yodcll atell

Sl-GURetl ol

Ans-d

10 Which of the following are not the advantages of river intake
a- obstruction to the navigation

b-no danger from floating bodies

c-no trouble due to ice

d-all of the above

ol AotHigl sl otelotl Actotatl slAEL otell
A- A(ANAAHL HARAY

ol-dRcl Yaealdl 518 e aell

Al-oRga A 818 yobcll otell

Sl-GURall vl

Ans-a

11 Which of the following are not the advantages of river intake
a- no obstruction to the navigation

b-danger from floating bodies

c-no trouble due to ice

d-all of the above



o(lAsttHiel s2l slelotl Actatoll Sl2AEL o1l

A- (ANt 5 WAAYU o1l

dRcll A3RUi &

Al-oRga A 818 yodcll otell

Sl-GuRall vl

Ans-b

12 Which of the following are not the advantages of river intake
a- no obstruction to the navigation

b- no danger from floating bodies

c- trouble due to ice

d-all of the above

(At Hil sl olElotl Botsell slAEL olell

A- A(AANAAHL HES WA o1l

ofl- Rl 23Rl 88 aa

Al- wRgal 51201 yoicll

Sl-GuRall vl

Ans-c

13 Which intake is widely used for small water supply because of cheap in construction
a-lake intake

b-canal intake

c-reservoir intake

d- river intake

Wl UsHHL Al latal 51201 saul wRllell cuRiel sltetl Wl Yasl M cuusuil
AdlA B

U-As Yol s



ofl ¥ollcto] Botes
Al-rqul2e] Sot2s

$l- ol€lo Bol2s

Ans-a

14 Which intake is not widely used for big water supply
a-lake intake

b-canal intake

c-reservoir intake

d- river intake

et Yyl well yasl 12 sl Seesall catusudl Gullol Udl ol
U-As Boles

ol Jollcdo] Botes

Y-rqu2e] otes

Sl- atéle] Bol2s

Ans-a

15 Lake intake is not used for big water supply, the main reason behind that
a-not easily approachable for transportation

b- not easily approachable for maintenance work

c-bothaand b

d-not easily approachable for future expansion

et well yasl W2 dotdsll Se2sell GUAaL Udl otell, A Wens] Yuu siR0l
URdgal HIz ARl uslAl asta g otell

ofl- gl stal we wuRadedl uslAl asta aqg ot

Al-cial A uA ofl



Sl-ct(Aratatl (AcRel M2 Aradlell uslAl asta g «tell

Ans-b

16 In river intake water is drawn always from
a-upstream side

b-downstream side

c-between upstream and downstream side

d-none of the above

oA€loll SoesHl WRll sR2uell W B
WS WURGIH Gl
ofl SIBelRZIH oLy
Al-clRA UM Aal SIGARIH WS

Sl GuRall 585 o3l

Ans-a

17 River intake is circular masonry tower of __meters in diameter
ol€le] Bo2s W ONN URLAR 2laR B Boll clld _ Hle: B

a-6to 7

b-4to 7

c-6t08

d-4to 8

Ans-b

18 The water enters in the lower portion of the river intake known as
a-jack-well

b-penstocks

c-sump-well

d-none of the above

Bl oteloll Boesoll oflUAl ol Wl yaal s2 8

a- ¥5-Ac



AR ER Y]
Ay - gl

Sl GuRall 585 o3l

Ans-c

19 Penstocks are fitted with screens to check
a-the entry of floating solids

b-the entry of dissolved solids

c-the entry of small particles

d-all of the above

Yol2lsU AUlUcll HI2 8let U YUY

A-scAl3ot AAsusll yaal

ofl- o1l Yot Uetdloll Aol
olloll-olloll 5Bl Yaal

Sl-GURall v

Ans- A

Ans-a

20 The opening and closing of penstock valve is done with the help of
a-wheels

b-pumps

c-gears

d-none of the above

Qolrels cllecloll 23l W AHIAAA yslal sauHl wa B

l-cglet
ofl Wiy

A-Olarl



Sl GuRall §¢5 ol

Ans-a

21 In case of emergency and temporary work which intake is used
a-river intake

b-movable intake

c-wet intake

d-canal intake

52153l U SIHAAG sIHotl BRUuHl Boll AuRI A &
A-otlo] Boles

ofl-2o1 Boles

Al-ello] Bot2s

Sl Bollcd Betes

Ans-b

22 Closed conduit constructed with masonry and used for conveying water from source
to the treatment plant known as:

a-open channels
b-aqueducts
c-tunnels

d-flumes

ALRLAR U ot olittellHl A ool A BdAHA dleRoe weloe Ul usluLs
e dAuRpA B

As yedl AacAl
ofl-o AR
Al-2ac

Sl-sctt

Ans-b



23 In which conduit, Water flows under gravitational force :
a-open channels
b-aqueducts
c-tunnels

d-flumes

stoll oj3ccsral e gent wRll ad B:
As yedl Aol
ol-xnAR
2ot

Sl-sciy

Ans-c

24 ____are open channels supported above the ground.
a-open channels

b-aqueducts

c-tunnels

d-flumes

A glatell Gur 251 AUl yecdl AaAl 8,
As yedl Aol

ofl-nAR

Al-2oct

Sl-sctt

Ans-d

25 ____are constructed with R.C.C, wood or metal.
a-open channels

b-aqueducts

c-tunnels



d-flumes

R, csst el ulgell siiuaudi wua .
A5 wedll Aol

ofl-nAR

Hl-2atct

Sl-sca

Ans-d

26 __are usually used for conveying water across valley and minor low lying areas.
a-open channels

b-aqueducts

c-tunnels

d-flumes

ol GUAL ALHLeA A vlel Al stietl ofluetetot QM well uslusat
Hle al B,

As yedll Aol

ofl-snAR

l-eacd

Sl-seti

Ans-d

27 ____should be water tight, and there should be no loss of water.
a-open channels

b-aqueducts

c-tunnels

d-flumes

_uellell Yt Sl ASA, WA Uelle] ojslet Slg RSN o8l
As yedl Aol



oll-wnuR
l-eac

Sl-scad

Ans-c

28 ____may be constructed with bricks, stones or R.C.C
a-open channels

b-aqueducts

c-tunnels

d-flumes

o), weRl weall AR LA gt olitatHi uell aF B
A5 Wedll Aol

ofl-suR

Al-2acd

Sl-scid

Ans-b

29 In which conduit average velocity of water should be 1.0 m/sec.
a-open channels

b-aqueducts

c-tunnels

d-flumes

UQllell otcn AR oA 1.0 Hl / ASS Sl M.
As wedl Aol
o{l-ynuR
Al-2olct

Sl-sci



Ans-b

30 How many types of pipes are commonly used:
AL A dectl UsRell WSW AUl B:
a-8

b-6

c-9

d-10

Ans-c

31 ___pipes have long life about 100 years.
a-steel

b-cast-iron

c-wrought iron

d-concrete

WSl @atedl 100 a dioll wiy 8.

-l

ol sie w2l

A ceudct Qs

Sl-si(se

Ans-b

32 ____pipes are manufactured from best grey pig iron by two methods.
a-steel

b-cast-iron

c-wrought iron

d-concrete

_usw A Q) ugldell A I sy A Hiell clotlactHi W 8.
A-BlAd

oll slre ulel



Al uslActl AlvisHl

Sl-silse

Ans-b

33 ____pipes are manufactured in lengths of 2.50 to 5.50 m.
a-steel

b-cast-iron

c-wrought iron

d-concrete

_ WEWe] Geuleat 250 &l 5.50 Hlerell dougui ax 8.
-l

ofl sl ALl

Al uslAcl Awvls

Sl-silse

Ans-b

34 Which of the following are advantages of cast iron pipes:
a-easy jointing

b-long life

c-less corrosion

d-all of the above

52 ol WSUetl ol Actiuiell sl staAel ©:
A AR ASLE

ofl ol ast

Al-AY sl2

Sl-GURetl vl

Ans-d



35 ___pipes are manufactured by rolling the flat plates of the metal to the proper
diameter and welding the edges.

a-steel
b-cast-iron
c-wrought iron

d-concrete

L wEW Rededll Az WAl Ao Ml ¥l WA BetidlAla Aes s3la
Ololla Ml WA 8.

A-Rld

ofl sl ALl

Al uslAcl Awvls

Sl-silse

Ans-c

36 ___pipes are joined together by couplings or screwed and socketed joints.
a-steel

b-cast-iron

c-wrought iron

d-concrete

_ o wsu suldol el 2gS el AB2s AUl glRL AsUE Ssla B,
A-wlet

ofl slRe Ul

Al uslAel Awls

sl-sl(se

Ans-c

37 To increase the life of __ pipes sometimes these are galvanized with zinc
a-steel

b-cast-iron



c-wrought iron

d-concrete

W lell aotHl du sal HIR Seclsalr ul ofls U NS »ns Al ©
A-WlAd
ol sike wluol

A Ystdcl Awvis
-slise

Ans-c

38 ____pipes should be used only inside the buildings, where they can be protected from
corrosion.

a-steel
b-cast-iron
c-wrought iron

d-concrete

WS Well BURNL §5cl SHIRdo(l iR o U WS, Ul Al stedl wudl
sl

W-ElAd
ofl slre w26l

Al YUstdcl Awis
-sl(se

Ans-c

39 ___pipes are much affected by corrosion and are costly to maintain.
a-steel

b-cast-iron

c-wrought iron

d-concrete



WU sl GlRL WO UAR 5 B Al A saaal Hie Wia 8.
A-¥lAd

ofl st ALl

Al «stAcl Avls

Sl-silse

Ans-a

40 Which of the following are the advantages of steel pipes:

a-cheap

b-easy to constructed

c-easily transported

d-all of the above

s(lAsuiedll saul Wl WeSletl lAEL B:
A AUl

ofl oliusid 1 HRA

Al el uRdget

Sl-GuRall vl

Ans-d

41 Which pipes have disadvantage that they cannot withstand external loads:
a-steel

b-cast-iron

c-wrought iron

d-concrete

sl WSWHL QRA ® 3 ¥ A cllal Alsell AHA s3] asdl ool
-2l

oll slre w2l



Al uslAcl Awls

Sl-sllse

Ans-a

42 In __ pipes joints may be made by welding or riveting.
a-steel

b-cast-iron

c-wrought iron

d-concrete

L wWsUHl AL Aeslol aal (Aot glrt olettcl asta B.
-Vl
ol ske uluel

Al «slAcl Avis

sl-si(se

Ans-a

43 ____pipes may be precast or cast-in-site.
a-steel

b-cast-iron

c-wrought iron

d-concrete

sy Jlsike Al slke-el-ulse 8les A% 8.
A-¥dt

ofl sire sl

Al ustAcl Als

Sl-silse

Ans-d



44 In __ pipes, wood is being used.
a-plastic

b-wooden

c-wrought iron

d-concrete

WS AtsSlell GURNaL sRalHl uLdll 60 B.

wiRRs

ol csstsil

Al uslAcl Awvls

Sl-silse

Ans-b

45 ___pipes can be easily repaired , have light weight, not damage by corrosive water.
a-plastic

b-wooden

c-wrought iron

d-concrete

YW ARl wHRstH 53 sl ), AL coget 8lES 2% 8, sl ALl
uellell ofsutet atedl.

s

ofl csstetl

Al UslAAl AvisS

Sl-si(se

Ans-b

46 ____pipes are not suitable for intermittent supply.
a-plastic

b-wooden



c-wrought iron

d-concrete

WS des des el | 00 ol

wiRRs

ol cusstall

Al auuac Ale

Sl-silse

Ans-b

47 ____pipes are extensively used for carrying sewage and drain water
a-vitrified clay

b-wooden

c-wrought iron

d-concrete

 Yglell GURNDL dleR WA deRell WRllel clsel scll HIZ UL B
As-[ARstss Ml

ol cusstatl

Al ceudel A

Sl-si(se

Ans-a

48 ___pipes provide smooth surface and are free from corrosion.
a-vitrified clay

b-wooden

c-wrought iron

d-concrete

O WESW ARO AW YElal 52 © ual slemidl Ysd sl .

As-QRsLss Hdl



ol cusstall

Al avudc Ale

sl-sl(se

Ans-a

49 Which of the following are covered in specification for laying and jointing of pipes:
a-trenching

b-storing

c-laying

d-all of the above

ol Aot 1Yl s2AL WS ollvtell Ml Blstall HiZoll RURLSQUHT MARJNAA BD:
As 2ol

ofl RRal

U-Awa

Sl-GUReti sl

Ans-d

50 How many types of joints which are mostly used?
Hlal eIl GUA0HL Adlcl 52El UslRell diul 8?
a-8

b-9

c-10

d-11

Ans-a

51 ___type of joint is mostly used for jointing big diameter concrete and asbestos cement
pipes.

a-screwed joint

b-collar joint

c-flexible joint



d-mechanical joint

_ UsiRell AYsd Hlel eldl Hlal cal¥oell sis2 wal AR RNe2 WeFWHl
glslall Hie duRlA 8.

a-screwed UJscl

ol SlcAR RAYsct

Al-cdaAls AYsd

SI-AEAsA AYsdl

Ans-b

Chapter-4

1 When the reduced level of the water source is higher than the reduced level of the
consumer's place, water is generally supplied

a- By pumping system

b- By gravitational system

c- Both (a) and (b)

d- All of the above

12 UR(loll Blcloj Ul R ALesoll RUlall YlSl AR $cll AR Sl 8§, ”UR
el AHLeA A ducHl A B

A- Yool RreH sl
ofl- dpcausel RReH gL
Al- olad (A) wa (oll)

- GURAASAH dAHIH

Ans-b

2 Water is distributed to consumers by gravitational system, in (India)
a- Dehradun

b- Mumbai

c- Delhi



d- Both (a) and (b)

(GURAML) dJ3ccs™el RH glt assla Wl ([Adel srauMl A B
A- £8Ago

ofl- e

Al- Resl

- ol (A) ua (oll)

Ans-d

3 Runoff is the quantity of water which flows
a- In sewer pipes

b- Due to leakage in pipes

c- Inrivers

d- None of these

addq well A e B % cé 8
A- o2 WAl

ofl- WSWHL (A3 51RQ

- otelu

Sl- Al $¢5 ool

Ans-c

4 Water is distributed to consumers by gravitational system, in (India)
a- Dehradun

b- Chennai

c- Delhi

d- Both (a) and (b)

(GURAML) dJ3ccts™rl RH gl aussla Wl ([Adrel sauMl A B

A- £&RAE



oll- Az
Al- (el
Sl- olal (RA) wa (ell)

Ans-a

5 When the reduced level of the water source is lower than the reduced level of the
consumer's place, water is generally supplied by

a- By pumping system

b- By gravitational system

c- Both (a) and (b)

d- All of the above

2R UWRletl B clof Ulded R AUesell sdRllatl ULSl AR scll ALY Sl B, R
ulell uHtet 3la BLUCUHL AA B

A- Yol RieH sl
ofl- dpzcausel RReH gL
Al- ol (A) wuA (o)

- GURAASAH dAHIH

Ans-a

6 In which system water flows in the mains due to gravitational force
a-pumping system

b-dual system

c- gravitational system

d-all of the above

Ui ol3cclts™Rl ol B Rren welldi ad B

A-UfUol ReH
ofl-syucd Reu

Al- o3 caustigl Rren



SI-GURetl oul
Ans-c

7 When water comes from two sources one from reservoir and second from pumping
station it is called

a-pumping system
b-gravitational system
c-dual system

d-none of the above

w2 WRll A B AHE 2 & 1P As wouaAHl wa oflsl Ylol 2 2tetell
uA &

A-yol Qe
ofl-o[3 syl Rren
Al-syuc Ren

Sl GuRall 585 o3l

Ans-c

8 ____known as combined gravity and pumping system.
a-pumping system

b-gravitational system

c-dual system

d-none of the above

_ AYsct ocaitstul wal ufol Ried d3lE oA 8.
A-UUoL Rien

o{l-o3 syl Re

Al-syuc Ren

Sl GURall §¢ ol

Ans-c



9 In which system pumping is not required
a-pumping system

b-gravitational system

c-dual system

d-none of the above

Hi Rz weoL %33l otell

A-u0Uol Rien
o{l-o)3 syl RreH
Al-syuc Ren

Sl GuRall §¢5 ol

Ans-b

10 In which system gravitational force is not required
a-pumping system

b-gravitational system

c-dual system

d-none of the above

Ui Ried oppcattsyul v o33l otell
A-yOol Rren
ol-o3 syl ReH
Al-syuc Ren

Sl GURall §¢ ol

Ans-a

11 What are the requirements of good distribution system?

a-it should convey the treated water up to the consumers with same degree of purity
b-the water should reach to every consumer

c-sufficient quantity of treated water should reach for domestic and industrial use



d-all of the above

AR [QdRel yeudlell uausdia 9 &2

A-A 9Y(&sWtell Amot (Boflanant ouesl Yell GuARA well uslusg sesA
ofl-well €25 aules YUl uslug AsA

Ud WA UGl cauRiel 1R glees willell Al-ydl el usludl AsA
Sl-GURetll ol

Ans-d

12 What are the requirements of good distribution system?

a-it should convey the treated water up to the consumers with same degree of purity

b-it should be able to transport sufficient quantity of water during emergency as fire-fighting

c-it should be reliable so that even during breakdown or repairs of one line water should
reach that locality from other line

d-all of the above

AR QR yeudlell wiagasda g 82
A-A 2Y(&s20tell AMlot (Boflannt ouesl Yl GuARA well uslusg KA

ol-Q salsdl ePalet WRlloll Yl 2l WEAAHS d31F URcsat scuul qmdd
Sl A SA

Al-A (Qaxslla 8ld KA gl Ws Algotoll URlell oLl WU AHIRSIH
gRallet Ul A clgaledll Wod clgatell A @Ulel UR UslUd KA

Sl-GuRall vl

Ans-d

13 What are the requirements of good distribution system?

a-it should convey the treated water up to the consumers with same degree of purity

b-it should be able to transport sufficient quantity of water during emergency as fire-fighting

c-it should reach to every consumer with minimum pressure head

d-bothaand b



AR [QdRel yeudlell s 9 &2
A-A gY(&s0ell qnet (Soflatou auesl Yl GuuRd well uslusg AsA

ofl-Q salsdl et WEllell YRl o2l WEAWHS d31F URcsat scuul qmdd
Sl R SA

Al-A oYotcdH elQlalol HaULclol €38 dUss Yl uslUud KA

$l-olal A el ol

Ans-d

14 What are not the requirements of good distribution system?

a-it should convey the treated water up to the consumers with same degree of purity

b-it should be able to transport sufficient quantity of water during emergency as fire-fighting
c-it should reach to every consumer with minimum pressure head

d-bothaand b

AR Qe yeudlell miagasda 9 «tell?
A-A gY(&stell Anot Boflannt ousesl Yell GuARA well uslusg KA

ofl-Q selsdl et WRllell YRl el WOAWHS 31F WRagat scumi qmdd
8l AR

Al-Q oot ecQlaal Hiataon €35 Aes Yol uslug KA

l-oiad A ua ofl

Ans-c

15 How many types of reservoir are used for storing water?

Wl douled sRal HI2 3l Uslell asouatllell GUllol al 8?
a-4

b-3

c-5

d-6

Ans-b



16 Which are the following used as a reservoir
a-earth reservoir

b-masonary and R.C reservoir

c-elevated reservoir

d-all of the above

ol Aotl wouA 33 GUALBHL Ao B
A-yecll esouaa
ofl-ABLAR WA Rl
Al AlAazs o

Sl-GuRall vl

Ans-d

17 Which are the following not used as a reservoir
a-earth reservoir

b-masonry and R.C reservoir

c-elevated reservoir

d-combined reservoir

% o(lAotl wougA ¥ GuAlol Aaltcll otel
A-yecll esouata

ofl-ABLAR A R

Al AlAazs wsnuaa

Sl s wouaAu

Ans-d

18 Masonry reservoir usually made of
a-stones

b-bricks

c-plain or reinforced cement concrete



d-all of the above

ARLAR FOUARA UHRA A ol B
A-UcdL

ofl-82

{1 Qet el yoldd RN slse
Sl-GURetl o

Ans-d

19 At the top of roofs about 60 cm thick earth layer is deposited to protect the reservoir
from cold and heat

a-earth reservoir

b-masonry and R.C reservoir

c-elevated reservoir

d-combined reservoir

©9ctoll 2l UR 2R 60 A ML st yeelloll 2cRal souaaua 631 ua ol
oAl HI GHL SRCAUHL UA &

A-yedl wnala
ofl-uBLAR Aol wR.L.
Al AlAazs wsouaa

Sl AYsct oA

Ans-b

20 In masonry and R.C reservoir thick earth layer is deposited to protect the
reservoir from cold and heat

ABLAR Aol MR wouAUH o5t Yeclotl R gt 631 ua oMl
GlRALcLAl HI @HL sRAH A &

a-60 cm
b-80 cm

c-40 cm



d-100 cm

Ans-a

21 Which system also known as reticulated system?
a-grid iron system

b-circular system

c-ring system

d- all of the above

56 RARH B AsARS RH UQL sdcllHl WA B?
A fls el RieH

o{l-uRua Rien

{l-RFol Rren

Sl- GURell ¢l

Ans-a

22 Which system is an improvement over dead end system?
a-grid iron system

b-circular system

c-ring system

d- all of the above

35 AWos RAH UR 58 RR2H YUl &2
A Ifls el Ren

ofl- adausik Riren

{l-Rol Rren

Sl- GURell ol

Ans-a
23 Which system is most convenient for towns having rectangular layout of roads

a-grid iron system



b-circular system
c-ring system

d- all of the above

Rl AUARY AuUB2ellol ABRA U2 58 Rien Wl uajgn &2
A ofls el Ren

ofl- adousik Ren

{l-Rol Rren

Sl- GURell ¢l

Ans-a

24 Which system is adopted only in well planned locality of cities?
a-grid iron system

b-circular or ring system

c-dead end system

d- all of the above

3ol YeAdRAA (AR % 58 RH WUollclcllHl WA B?
A Ils el Rieu
ofl-ollc weal (3oL Rieu

A-3s5 Aos ReH

Sl- GURell ¢l

Ans-b

25 In which system locality is divided in into square or circular blocks
a-grid iron system

b-circular or ring system

c-dead end system

d- all of the above

Hi ReHoll ([Qrctlral ARU AUl NN 6AlsHL ddJUcHL AA B



A ofls el Ren
ofl-oln weal Rat Ren
Al-3s Aos ReH

- GURell ¢l

Ans-b

26 Which system sometimes used as a looped feeder?
a-grid iron system

b-circular or ring system

c-dead end system

d- all of the above

56 Reu JedlsaR s glsR 3y Guallol Aaua &2
A ofls Ll Ren

ol-oln waal Rot Rirer

Al-35 Aos RreH

- GURell vl

Ans-b

27 Which system increases the capacity of grid iron system and also increases water
pressure?

a-grid iron system
b-circular or ring system
c-dead end system

d- all of the above

56§ R ofls wlaol ReHoll &HAHL ctlR 52 B wal WRlle] 6l URL AR
RY,

A Ifls el Ren

ofl-o0ln waucl Rat Rrex



Al-3s Aos RAeH

Sl- GURell ¢l

Ans-b

28 The supply of water is divided into zones and each zone is supplied with water for the
fixed hours in a day in which system?

a-intermittent system
b-continuous system
c-bothaand b

d-none of the above

WRloll Yol Aol cadUAA & wal €5 Alotl s Rarul [Rad scusl we
wiell Y3 wselHi waA & A 58 ReHHl B2

As fes des RAen

ol Ut Reu

Al-cial A uA ofl

Sl GuRall §¢5 o3l

Ans-a

29 When there is adequate quantity of water for supply then water is supplied for twenty
four hours in which system?

a-intermittent system
b-continuous system
c-bothaand b

d-none of the above

2R Yatsl M YRell YHRHl will A & R 58 Ryl AU scus well
Y3 uscallHl w1 82

As fes des RAen
ol Ut Rrer

Al-oial A wa ofl



Sl GuRall §¢5 ol

Ans-b

30 Which are the various accessories commonly provided in the reservoirs?
a-inlet pipe for the entry of water

b-outlet pipe for withdrawn of the water

c-washout pipe

d-all of the above

ogUALNHL AlHLe A Y3l wsauml wadl [QAu Aslaus crd 58 B?
well yaetl Hi2 wsu-seae

well uest Wadl HI2 wEA2 Wwsu

Al- Wy e wsy

Sl-GuRall vl

Ans-d

31 Which are the various accessories commonly provided in the reservoirs?
a-maintenance for providing entry in the tank

b-float guage to show the depth of water in the tank

c-chlorinators in case when water is directly pumped in the overhead reservoir

d-all of the above

UMM UlHLe Il Y3 wsauni vadl @QAu dslas drd 58 82
2l yadel YA wsal 1 eacgll
2SIl wellell sclle. oldiaal M2 et
scl3lae?

R Al MRS ol Wl dttratHl 1A AR Al- Sl-Guretl oul

Ans-d
32 Which are not the various accessories commonly provided in the reservoirs?

a-inlet pipe



b-outlet pipe
c-washout pipe

d-extra pipe

AL A ol Y3l wsauHl el QR RAUIS 585 otell?
As Bol@e UBY

ofl-uBede weu

Al washeruGe wey

Sl-ctaupell weu

Ans-d

33 When the use of stand pipes becomes impractical and uneconomical then which
system is provided?

a-earth reservoir
b-masonry and R.C reservoir
c-elevated reservoir

d-elevated tank

YR Wos UG Ulell BUAL WeAsl? e BsHIA olofl st B, Al uedl 565 Ren
YElol salHl 1A 8?

A-yecll esouata
ofl-uBLAR Aol wR.L.
Al AlAazs wsnuaa
glAal@azs aisl

Ans-d

34 Elevated tank constructed with:
a-steel

b-R.C.C

c-brick

d-bothaand b



A dad Al@azs 2isl:
A-Klet

ofl-uR L

Al-82

Sl-cial A A ofl

Ans-d

35 Now aday’s  elevated tanks are very popular
a-steel

b-R.C.C

c-brick

d-bothaand b
e oll Rat _ AlAARs 2isl yol o Alsa &

A-Ele

ofl-aR LA
Al-8e

$l-olal A ua ol

Ans-b

36 About cm balcony is provided around tank for inspection and maintenance of
the tank

2islo{l @latal wa stnarl {2 cotedl ALl w2t Y2l wsauni 2 8

a-60 to 100
b-80 to 100
c-100 to 120
d-40to 60
Ans-a

37 Now a day’s R.C.C elevated tanks are very popular because



a-have long life
b-very little maintenance
c-give decent appearance

d-all of the above

& oll Ratoll AR.ALAL AAARs 2isl et o Asa B 510 &
Alo] Wdot

ofl vou % 2l saagll

Al tuwla 0 gulla

Sl-GURell v

Ans-d

38 Now a day’s R.C.C elevated tanks are very popular because
a-have long life

b-very little maintenance

c-both aand b

d-none of the above

& oll Rartell wR.ALAL AlAARs 2isl et o Asa B 510 &
Alo] Wdet

ofl vjol o AL sagll

Al-vial A waA oll

dl GuRall 585 ool

Ans-c

39 In which system large number of valves will be required in maintenance
a-intermittent system

b-continuous system

c-bothaand b

d-none of the above’



Hi ReuHl stoarldi A8l AvaHl aieatsll %32 us
As fes des RAen
ol Ut Rrer
Al-vial A wa oll

Sl GuRall §¢5 ol

Ans-a

40 Which of the following covered in demerits of intermittent system
a-bigger diameters of pipes are required

b- large number of valves will be required

c-both aand b

d-none of the above’

ol ActiHiell 520 des Ruoll coIRlell AHA Ul B
WUl Hl2l clly wLaeAus &

ofl- WA AvaHl cleaoll %32 us

-0l A Ao ofl

Sl GuRall §¢5 o3l

Ans-c

41 The method of distribution of water is divided into how many types?
wWllott [AcRelell ugld et ysRAHl adudd &2

a-1

b- 2

c-3

d-4

Ans-c

42 In which of the following distribution system, the clean water flows entirely under
gravity?



a- Gravity system
b- Pressure system
c- Combined gravity and pumping system

d- Pumping system

ol Actitiell 58 (A0l youelldi, ga well Ayl ojccusyel dsn dd 82
A- J3ccllsyel ReH

ofl- Yok Rren

Al- AYscl 93 cclsyl A UGl RieH

$l- uflal Rren

Ans-a

43 The pressure in the distribution mains does not depend on

a-Altitude to supply water

b- Fire fighting requirements
c- Availability of funds

d- Quality of water

(AcRutell Yyt oMl eollal UR ARt otell

well yasl sal Hie A-AltSUle
ofl- WOAWHS wla2ASARA
c- elslne{l Guaeudl

S1- welell oputetrt

Ans-d

44 In which system of water supply, water is available for 24 hours but uneconomically
used?

a- Continuous supply
b- Fixed supply
c- Intermittent supply

d- Low supply



wiell yastell s¢8 youdlui, well 24 scls 1 Gudsd 8 ud Ascln GuAal
AlA B?

A- Acdd A
ofl- RAR YRaal
Al- des des Al

Sl- | A

Ans-a

45 In which system of water supply, water is supplied only during fixed hours of the
day?

a- Continuous supply
b- Fixed supply
c-Intermittent supply

d- Low supply

well yraslell ¢ utulQul, [Eaell @ad scsl eMalet o well Y3 wsaH
wLA B?

A- Add A

ofl- RAR Y8l

Al-es des A

N EEM IOl

Ans-c

46 The hourly demand rate is constant throughout the day.
SCLS €12UleL HIOL € €AY AUcld W B.

a- True
b- False
Ans-b

47 A Service connection is a connection from the distribution system to the



a- Factory
b- School
c- Industry

d- Consumer

U saselet A ARl Reuedll Yo s B
$1Rulle]

ofl- auou

Al- Galat

- Guellsdil

Ans-d

48 Which device is used to measure the quantity of water consumed by the consumer?
a- Water meter

b- Stopcock

c- Tube settler

d- Gooseneck

GUellscll gll WRllell cluR(el sal HIZ sl BUSWUAl GUADL sUHL MLA B?
a- wllej Hle?

ofl- Rusls

Al- eyt Aear

Sl dAs

Ans-a

49 Which of the following is incorrect regarding water meter?
a- Should be durable

b- Easy to maintain and repair

c- Should allow backflow of water

d- Should be rugged



o{lActtHiell sl wRllett HleA AdLAl wlel B?
a- 251G 8ld B A

ofl- stnclell Wl AHRSIH HIZ 4N

c- WRllotl AssAR 1Rl wucll A

d- 8812 8lg A=A

Ans-c

50 is used to measure the quantity of water consumed by the consumer.
a- Water meter

b- Stopcock

c- Tube settler

d- Gooseneck

ol UL ALES gl cUAAHL Acllctl WRllotl os2allal Hiucl HI2 U B.
a- welle] Hle?
ofl- RS
Ul- Yol AeaR
JESREE

Ans-a

Chapter-5

1 Asbestos pipes are

a- Light in weight and easy to transport

b- Highly resistant to corrosion

c- High flexible to accommodate deflection up to 12°

d- All the above
ENEIAE R ETRI(ESIN R

- elHl sl WA UR s HIZ YR



ofl- sle U ARld yldAus
- 12 ° YHllotl 35As2At ALl M2 G dals

Sl- GURell ¢l

Ans-d

2 Check valves are installed

a- On the delivery side of the pumping set

b- At the interconnections between polluted water system and a potable water system
c- Both (a) and (b)

d- Neither (a) nor (b)

As alcal QA «dd B

A- UeoL Aeoll BAaI ey uR

ofl- yg@ct well Rren U Ylanctas well @ed cell Hlsiel uR
Al- ol (A) ua (ol

Sl- ot (A) 5 (ol

Ans-c

3 In distribution pipes, drain valves are provided at
a- Lower point

b- Higher point

c- Junction points

d- Anywhere

QR0 WEWHL, 386t aleal BUAHL 1A ®
U- AR UBe

ofl- G (g

Al- o590t Weoe

Sl- satia uwl



Ans-a

4 Corrosion of a pipe

a- Reduces its life span

b- Reduces its carrying capacity
c- Adds color to water

d- All the above

UlgUoe] ste

A- Aol Baatslon uald B
ol- Aol aget atHAl uald B
Al- wllui 200 GA2 B

Sl- GURell ¢l

Ans-d

5 The spacing between the Sluice valves is

a- 10m
b- 30m
c- 80m
d- 180m

VU alead ARAo] vldR R

A- 10 H{l
ofl- 30 {1
Al- 80 L
$l- 180

Ans-d
6 Which of the following is used to stop the water supplies when required?
a- Air relief valve

b- Sluice valve



c- Pressure relief valve

d- Altitude valve

o(lA WMl 52 Gualol >R 33 sl R Wil Yasl ol scl Ui Ul
8?

A- sal RAsc dlead

ofl- AUSU alea

Yl- EGIBL Rléc dlcad

Sl-Acdleys alca

Ans-b

7 Valves are used to discharge air from the water pipelines.
a- Air relief valve

b- Sluice valve

c- Pressure relief valve

d- Altitude valve

alcaell Gual wrllell wsucisouHiel scltal ([Quefel sall HIZ A B,
U- gall Asc aleal

ofl- AUSSU clea

Al- eoll A aleat

Sl- Acdleys cical

Ans-a

8 Valve allows water to flow in one direction only.
a- Air relief valve

b- Sluice valve

c- Reflux valve

d- Altitude valve

aleel Wl (s o (BouHl cdel & ®.



A- gall Asd aleal
oll- AU alead
Al- Rsesu alea

Sl- Acdleys aical

Ans-c

9 Which of the following is known as washout valve?
a- Scour valve

b- Sluice valve

c- Reflux valve

d- Altitude valve

s(lAsuill caruBe alea d3l% vlawia 82
A- adisl alea

ofl- AU alcal

Al- Rees alea

Sl- Acdleys cical

Ans-a

10 Which of the following valve is known as a safety valve?
a- Scour valve

b- Pressure relief valve

c- Reflux valve

d- Altitude valve

oA Hl 520 alead AAHA dica d3s AL B2
A- disl dlea
ofl- oLl Asd alead

Al- RBsetsu alea



Sl- Acleys alca

Ans-b

11 Which of the following is also known as a check valve?
a- Scour valve

b- Pressure relief valve

c- Altitude valve

d- Reflux valve

o(lAsttiell sau As alea dF uel Mo 82
A- adisl alea

ofl- ealll Asd aleal

Al- AEleyYs aleal

- Rsetsd alead

Ans-d

12 Classification of pumps based on
a-principles of operation

b-type of power required

c-type of service

d-all of the above

Widg ca(ls2el R wURA
stHo(Rloll Rgicl

ofl Ustrell ulaR %33l &

Al-ysial Aau

Sl-GURetl ¢ul

Ans-d

13 Classification based on type of service, how much pumps can be classified

Acllotl Yslrell R aols20t Uue] colls2el 531 asta d



a-6

b-5

c-4

d-8

Ans-b

14 Classification based on type of power required, how much pumps can be classified
%33 alselotll UsR U welR3ct (s, Uuef ao(lswl 531 asta &
a-6

b-5

c-4

d-8

Ans-c

15 Classification based on principles of operation, how much pumps can be classified
sIHO0Sloll Raiclotl vt cdlsrel,  due] cdllsil 530 asta ®

a-6

b-5

c-4

d-8

Ans-c

16 Efficiency of rotary pumps is between %
A23 Uuell stelatidl % oll aA B

a-50 to 85

b-60 to 85

c-70to 85

d-80to 85

Ans-a

17 Which of the following not consider as a pumps fall in type of service:
a-low lift pumps

b-high lift pumps



c-air lift pumps

d-stand by pumps

o(lAotiill sl Acloll YsRHL WU usl o2 8 Q tulotdi Acll el
A-[Ase Wy

ofl G [Age uu

A-AR [@Ase Wy

GlRL RoS UU

Ans-c

18 Which of the following consider as a pumps fall in type of service:
a-low lift pumps

b-high lift pumps

c-deep well pumps

d-all of the above

ollAotiuill sl Actlotl YsRAHL WU Ul 12 8 d rauletil A &:
A-[Age wu

ol G [@Ase Uu

Al-d Qg gau wu

Sl-GURetll ol

Ans-d

19 Which of the following not consider as a pumps fall in type of power required:
a-electrical driven pumps

b-high lift pumps

c-gasoline engine pumps

d-steam engine pumps

ol Aot HiAl sUl WU wa2As AGAAL UsRHL alaldl dlatell Lauletdl Adl ol

As (Agd dUlAd wy



ofl G [Ase Uu
A-AAA RALBe WY
- H AeBot Uy

Ans-b

20 Which of the following consider as a pumps fall in type of power required:
a-electrical driven pumps

b- gasoline engine pumps

c- steam engine pumps

d-all of the above

ol Aol sl Wiy aagas YsiRell AlAul 1A 8 A et A B:

As (Agd dUlAd wy

ol- AAAt AeBot Uy

Al- Bl APt WU

Sl-GuRall wul

Ans-d

21 Which of the following not consider as a pumps fall in type of principles of operation:
a-displacement pumps

b-centrifugal pumps

c-air lift pumps

d-steam engine pumps

ol ActHiell sl WURAsA Rgicdloll YUsRHL W Ul A § A et Adl o2l
A-(SrAquNe2 Uu

ol-3oscuoll wan

AR [@Ase Wy

Sl Aot Uu



Ans-d

22 Which of the following consider as a pumps fall in type of principles of operation:
a-displacement pumps

b-centrifugal pumps

c-air lift pumps

d-all of the above

o{l Aot Ml 52Ul W AU Astoll Rgiclotl Ysi3W Ad 8§ A tlleHl A B:
A-(SAuNe2 Uu
o{l-3oncaoll wu
A-AR (Age Wy

Sl-GURall vl

Ans-d

23 Which of the following points should kept in view while selecting site for the pumps
and pumping stations:

a-the location of the pumps should be above H.F.L
b-required quantity of water should be available
c-pumping station should be at higher level above all the sources of contamination.

d-all of the above

Uy el Ul Raet Hizell uesll ueoll sl awa oAt yazduiell sa
RALAHL AW A

A-WiUo] et AUAS. AU GUR 8ld KA

ofl 2331 well Guaosu &ld A

Al-ubNoL 2ot gMRLell dHiH A AU GU R UR 8lg A,
Sl-GURell v

Ans-d

24 Which of the following factors affecting selection of pump?

a-cost of labour



b-efficiency
c-cost

d-all of the above

ol ActtHiYl sl URHO Uuell udiedlla AR 52 8?2

HogRell (Bt

ofl-stletHdl

-

N EEEIRA

Ans-d

25 Which of the following factor that is not affecting selection of pump?
a-cost of labour

b-efficiency

c-power

d-load

ol Astimiell 53f UR Uuell Uieolladl UUR 531 28] otell?
HogRell (St

ofl-staletc

Al-war

Sl-Als

Ans-d

26 Which of the following are the various types of engines which are mostly used to
operate pumps?

a-electric motors
b-gasoline engines
c-steam engines

d-all of the above



ol AoAlHIYUl sl AeBotoll (LAY USIRA B Boll GUAL H2LeI UK ACLelell HI2
AlA 8?

As sAlses Hled
ol-0AAA RAeBot
-2 Aol

Sl-GURall oLl

Ans-d

27 Air lift pumps consists of a vertical pipe known as :
a-convectry pipe

b-educator pipe

c-impulse pipe

d-none of the above

AR ([Ase duni Gell wsu wAd ®
A-godsgl UBU

ofl-A%YZ2 Wy

- AoL Wy

Sl GuRall 585 ol

Ans-b

28 Which of the following are the disadvantages of centrifugal pumps?
a-rate of flow of water cannot be regulated

b-they cannot be operated without prime movers

c-pump will run backward

d-all of the above

ol At il AcBlYOlA Ulall ARSLAUEL B?

URletl Yatgetl €24 [ 53 astal «tell



ol- Al weH ol [@Qatt et astdl ool

AW wen e

Sl-GURall vl

Ans-d

29 Which of the following are not the disadvantages of centrifugal pumps?
a-rate of flow of water cannot be regulated

b-they cannot be operated without prime movers

c-pump will run backward

d-initial cost of these pumps is high

ol At Ml AoBlgYolAd Uuail AReuall «1efl?

WRloll Yetlsotl €2 AR 53 asicl otell
ofl-Qall YssH YeRl [@Qelt uctell astdl otel
Al-wu wen wc

AL YWl yR(@s BHd auR d

Ans-d

30 Which of the following are the advantages of centrifugal pumps?
a-due to compact design they require very small space

b-they are cheap in cost

c-they have very simple in operation

d-all of the above

o(lAsttiell s2u Aol LYol Ulsll SIAEL B?

sLAs2 (SAEetal S0 A vt Wedl sorulofl 32 Ud &
ol- AR WML Wl B

Al-Aullell 12031 wol & AR B



Sl-GUReil vt

Ans-d

31 Centrifugal pumps using one impeller are known as
a-single stage pumps

b-double stage pumps

c-multistage pumps

d-all of the above

A5 S1UARA GUAIL 53l Alg gYolet WU 313 Wi B

As-[Rloid Ry Wy

ofl-soet R Wy

Al-ul@es W

Sl-GURetll ol

Ans-a

32 There are ___types of centrifugal pumps
Aot lLolAd el YsR B

a-2

b-3

c-4

d-6

Ans-a

33 There are ___types of displacement pumps
Rl yslRell B@dee Uu B

a-2

b-3

c-4

d-6

Ans-a



34 There are ___types of reciprocating pumps
Al BUBE3Rotdustl  ysik ®

a-2

b-3

c-4

d-6

Ans-a

35 Double acting reciprocating pump efficiency varies from
sud RUB3(Eat vy stdletidl ol decta ®

a-40% to 60%
b-40% to 50%
c-40% to 85%
d-40% to 65%
Ans-c

36 Gate valves control the flow of water is fixed in main linesat ___ km intervals.

A2 alea WRlletl yalsal (AR 52 8 A Yuad cltgatdl (5.1l vdRjiaMl QRld
.

a-4t06

b-3t0 5

c-1to3

d-2to 6

Ans-b

37 Which of the following are the types of air relief valves?
a-double float

b-single float

c-bothaand b

d-none of the above

oAt il sUL USIRall scllAl RAS dlead 8?



W-sHA SR
ofl R sAe
Al-ola A A ol

Sl GuRall 585 o3l

Ans-c

38 Drain valve also known as
a-scour valves

b-gate valves

c-reflux valves

d-sluice valves

38t clcel SE ERVEEN TR
AR alleat

ol-de alea

A-Rsetsu clea

Sl aleal

Ans-a

39 Drain valve also known as
a-blow-off valves

b-gate valves

c-reflux valves

d-sluice valves

38l clleal SE CRVEENOUTTONR
As gellaq ollet alee

ofl-de alea



A-Rsetsu alead

Sl alea

Ans-a

40 Which of the following characteristics the good meter should have?
a-it should not offer any resistance to the flow of water

b-it should record even a 10 litre/hour

c-it should measure the discharge upto 2 % accuracy

d-all of the above

ARL Hle>Hl o{lActHill 585 clatl@ s alcl s1eR?
AW-A wellett yate AR 518 ylAstx U o8l

ofl-Q ugl 10 [@A2R / scus WS 539

Al-A 2% AsUE Yellotl Alctal 1l SR

Sl-GUReti vl

Ans-d

41 The good meter should record even a leak of ___litre/hour
AR Hle:dl _ [@Q2R / sclsell (As uwl 2518 adl KSR
a-20

b-30

c-10

d-5

Ans-c

42 The diameter of the hose in post hydrant usually _ mm
e slodeeHl alolloll caltdt Mo A H{lll

a-65

b-66

c-63

d-68



Ans-c

43 Meters can be classified into
Hle:  ui aollsd sl asta ®

a-3

b-2

c-4

d-5

Ans-2

44 Which of the following are not types of meters?
a-positive displacement

b-velocity of inferential

c-double float

d-none of the above

o(lAsuiell sl ysieti Hler «1ell?
A-USRIHS [Qrelust
(QAotaojalt s Qdlell Aot

Al-sact sclle

Sl GuRall §¢5 ol

Ans-c

45 Which of the following are not types of meters?
a-positive displacement

b-velocity of inferential

c-single float

d-none of the above

oAt Hidl sal ystRall Hle «ell?
W-USRAHS (AU Ul

(Qotojalt s Qdtell Aot



Al- As sl

Sl GuRall §¢5 ol

Ans-c

46 Hydrants are used for tapping water from mains for____
a-fire extinguishing

b-street washing

c-watering gardens

d-all of the above

sles3oeall GUAL Yul HiZell WIQlal 2U scll M2 A D
UEAAMS

ol-A3 e

Al-yelAell well Watsdl ool

Sl-GuRall vl

Ans-d

47 Which valve release excessive pressure that may build in a closed pipe?
a-sluice

b-air-relief

c-pressure relief

d-check

53 clled vld el 913 B % ot WeUHl doticll o &2
A-GBU

ofl-gall-RAsct

Al eaal 2pAsd

Sl-As

Ans-c



48 In the distribution system at dead ends, if water is not taken out it will stagnate and
bacterial will be born in it. To avoid these difficulties which valve will be provided?

a-drain

b-check

c-air-relief

d-sluice

Y At Yl (A0l youclui, ol well ¢tk st .Ml o8l wd dl A RAR U
Wl AUl AsRauloll o €. wl Yadclullell rual sl dled Yelol sclM

U (Q?

A-§80t
ofl-As
Al-sal-A6d

Sl-agsu

Ans-a

49 In which device a vane or propeller turns in direct ratio to the rate of flow of water?
a-positive displacement type

b-velocity type

c-double float type

d-all of the above

sl GUSQUHL Aot Al VAR WRlloll Yellgell €Rell ALl A[BUARHI ¥Rala B?
A-WBRA Brauee ysi?
ofl-AoL ysi?

Al-sed sAe UslR

Sl-GURetl vl
Ans-b
50 device used for measuring small flow of water.

a-positive displacement type



b-velocity type
c-double float type

d-all of the above

_ allotl Bus00 Welleltl Yalsal HiUal HI2 AUl 8.
A-WBRa (SAuA yslR

ofl-Aat ysI2

A-suct sAle YsiR

Sl-GuRall oLl

Ans-a

In distribution pipes, drain valves are provided at Lower point True
(ARl WSWHL, 386t cleal QAR Weoe UR AUcH] A &
positive displacement type device used for measuring small flow of water .

&5RIHS (B1AUN2 YslRej GUs0L B WRlloll olloll Yallgal HiUcl HIZ dURld
R’

Pressure release excessive pressure that may build in a closed pipe.
gollal Ust@ld aQeal eotal ¥ @ ol WeuHl oloitcll ok ®.
Meter classified into 4 categories. False

4 Ml Hlzr aollsd .

Drain valve also known as scour valves
38l cllealal 282 cllead dA3lE UL BNOHALHL H1LA B

Gate valves control the flow of water is fixed in main lines at 3 to 5 km intervals



A aleel Willelt yasa @aAd 5?2 & A yuad ctgetil 3 ol 5 (5.4 didjncAH
AEd &

Double acting reciprocating pump efficiency varies from 40 to 85%.

solcd Aol IAsYlREL Uusll stalatddl 40 &l 85% Yl ecua B

Centrifugal pumps using one impeller are known as single stage pumps.

As SRR GUAL s3lA Al syolet Wi Rdlet Ry Wy d313 Wi 8,
Air lift pumps consists of a vertical pipe known as educator pump.

AR (Age Uurl weu sl 8 % Aagfder Uu 313 av B,

Efficiency of rotary pumps is between 50-85%

A3 wine(l stletHdl 50-85% oll clA ®

Chapter-6

1 Runoff is the quantity of water which flows
a- In sewer pipes

b- Due to leakage in pipes

c- Inrivers

d- None of these

aAdq well A el B % ad &
A- o2 WAl

ofl- WSWHL (A3 51
Al- otelul

Sl- el ¢ otel



Ans-c

2 Why potable water supply is not feasible in rural areas?
a-scattered and inaccessible nature of villages

b-non availability of nearby water sources

c-non availability of adequate funds to take up those projects which may serve only a few
people.

d-all of the above

ol (Qrctil lencttas wiellell yasl ol Hi2 st otell?
aUHsRAle(l AR(AWR wal golu ysla
o{l-at 5ol ¥ Bl dlell Gucotl

Al YBsed Acll HE Yl allisll Gucotdl «i8l, ¥ 5t st Aslal & Acll
Ul s,

Sl-GURetll ol

Ans-d

3 Why potable water supply is not feasible in rural areas?

a-scattered and inaccessible nature of villages

b-non availability of nearby water sources

c-bothaand b

d-none of the above

aplel Qrcul Wlenctias wllell Yyasl o 12 st otedl?
aUHsAle(l AR(AWR wa golu ysla

ol-9satl e Aol Guatstidl

Al-cial A uA ofl

Sl GuRall 585 o3l

Ans-c

4 Why potable water supply is not feasible in rural areas?



a-non availability of adequate funds to take up those projects which may serve only a few
people.

b-non availability of pipes, valves and joints
c-inadequate pressure in pipes

d-inadequate space for laying of pipes
alel @rcHl Ylenctias wglleall Yyasl o i st otell?

A YBsed Al 2 YRell olldlioll wU-GUuetstidl, B $5c AL ASlA o Acll wl
JE

oll-wsy, alea wal ditlell Guctoudl o8l
WEUHL AUYR EGURL

WEW oltral 12 AyRddl 221l
Ans-a
5 Why potable water supply is not feasible in rural areas?

a-non availability of adequate funds to take up those projects which may serve only a few
people.

b-non availability of nearby water sources
c-inadequate pressure in pipes

d-bothaand b

aplel Qraul lenetias wllell Yyl ot 1 st otell?

A URse Acl H YRl allRlisll Guctstidl, B 5t Alsl ASla & Al w0l 23,
o{l-at sl w0 A dlell Guctotdl

WEUWHL AUYRd g0l

Sl-oial A wal oll

Ans-d
6 Which of the following is not objective of rain water harvesting
a-reducing loss of water by its running off

b-avoiding flooding of roads



c-reducing pressure drop

d-meeting the demands of increasing water

(Aol cR™ULES RaLs HIZ GaeA atell
Aetl it Ui Wellej ofsAlet YLsqg
ofl-cRAAl YA 2lng

Al wetsal esal Slu

ulell auRate{l Hidtal tautetHi pgullal Sl

Ans-c

7 Which of the following are objective of rain water harvesting
a-reducing loss of water by its running off

b-avoiding flooding of roads

c- meeting the demands of increasing water

d-all of the above

o(lActuill sl cRULEL AAUS M2 CEA B
dotl il Ui Wellej ofsAlat Y2lsqg
ofl-RcRAAL YA 2lng

- audl wellell 1ol yil sl
Sl-GURetll ol

Ans-d

8 Which of the following are objective of rain water harvesting
a-reducing loss of water by its running off

b-reducing ground water contamination

c- meeting the demands of increasing water

d-all of the above

LAt Ml 52U clRULEAL ol HIE GRU B

Aotl il Ui Wellej ofsAlet Y2Lsqg



ol-epatel g $2q

- aud wellell 1wl Y3l sl

Sl-GURall vl

Ans-d

9 What do you mean by the term Rain Water Harvesting
a-technique used to increase the recharge of ground water

b- technique used to increase the recharge of surface water

c- technique used to increase the recharge of surface water and ground water

d-none of the above

ot AleR sldREol sl dN g 58 B2

eolal ool RUal cRal W2 Gualal Adldl As dsslls

ofl- dAsellsl Awlott wRlletl RUAKA Rl HIZ cURlA B

Al- dsolls @ AUwlotl Wil wa eatel wuell RUA cuRal M duRld &

Sl GuRall §¢5 o3l

Ans-a

10 How many methods are adopted for RWH?
URSGERAU MR Fedll uglQull AUttt ua 82
a-3

b-4

c-6

d-2

Ans-b

11 Nalgonda method used for removal of

llcAdlosl Ugldal £R sRcl M2 dURA &

a-iron

b-fluoride



c-chlrone

d-ammonia

U-clle
ofl-sc18s
Al-sclet
Sl

Ans-b

12 Nalgonda technique also used for removal of

ALANoSL cdAsollsal £R scl M2 URL dURA &
a-turbidity

b-bacteria

c-odour

d-all of the above

A WRURAL

ofl-as2Raul

Al-oiu

Sl-GUReti sl

Ans-d

13 The most ideal disinfectant used for drinking water throughout the world, is
a- Alum

b- Lime

c- Chlorine

d- Nitrogen

(QaerRHl Ulatott well 22 Gualol daidet Al wedd odsias 8
A- 259l
ofl- Yol



A- sAR-t

Sl- allEs2loset

Ans-c

14 How the excess amount of iron is removed from water?
a-adding lime

b-adding chlorine

c-both aand b

d-adding sulphides

UldAololl dtf Usl 22l weliel 3cl A g2 awa 82
A-ASoL Yall

o{l-A(3o1 ARt

Al-cial A uA ofl

Sl-A(Sat uesssU

Ans-c

15 Iron in ground water is usually contaminated by
a-silicates of iron

b-carbonates

c-sulphides

d-all of the above

a6l W HL ALl UHIA Aa gBd aa B

Ul RA32U
ofl-stellale

Y- ucsssu
Sl-GuRall wul

Ans-d
16 Which of the following methods adopted for RWH



a-by storing water in tanks or reservoirs
b-by construction of pits
c-by digging wells

d-all of the above

URSEERJAMA HIR ol Asttrill 58 uglA wustLll?
28l Al wouRlHl Wellell 2ae s3lat

WLSIRAL ollusiH glRL

gal vlledi Al

Sl-GURall wlul

Ans-d

17 Which of the following methods not adopted for RWH?
a-by storing water in tanks or reservoirs

b-by construction of pits

c-by digging wells

d-by constructing treatment units

WRSOERJAMA HR ol Aottidll 58 uGlABN wustiateumi wcl «iell?
alsl Al o RHL WRllall 2ale s3la

VLS IRAL G{usiH glRL

gal vlledi

Sl-&leNe2 Y[R olettclla

Ans-d

18 Which of the following methods not adopted for RWH?
a-by storing water in tanks or reservoirs

b-by construction of pits

c-by recharging of ground water

d-all of the above



WRsRAU HIR ol ActHiell 58 UGlAR WUstlcletMi il ofl?
28l wetal oualHl wellell dote s3lal

BILSLRAL ollusiH glRL

A-oU1Ges 2R Rue s3lat

Sl-GuURall oLl
Ans-d

19 When iron is present with organic matter then it’s difficult to break the bond between
them so adding lime and thereby increasing pH value of water about

R ULl sl0llls Uelell WA sloR sl B, Al A Ul Aol dell vitual Alsq
Yob 8l B Bl Yoll GRRAUML A & Wl AL WRllot LRAU Yeauui_
ARl WA 8,

a-7

b-8.5

c-9

d-both band ¢

Ans-d

20 Water present without combination with organic matter, the iron can easily
a-removed by precipitated by aeration

b-removed by disinfection

c-removed by flocculation

d-removed by coagulation

stollals weldll WA Asal (Aot st wiell, Aluis uractdl 53l a3 ®
Aol Gl WA GlRL R

Yaly] sllaslsal sl g2

sAls Aot gl €2 53

5199 A2t GlRL R 53



Ans-a

21 The technique used to increase the recharge of ground water by capturing rain water is
knownas

a-CWH
b-RWH
c-KWH
d-VWH

cRULEAL URA 5618 531 efalal wtoll RURA auRal HE GUaal Al
vl dsells a3l Hauua &

A-YlsocyAU

ofl-uRsecRAU

Al-3socpu

Sl-cllsocyalu

Ans-b

22 The alum dose required will depend upon the concentration of ___in raw water
a-fluorides

b- alkalinity

c-TDS

d-all of the above

%331 25Slell Hiow staul Wellell ol Algcdl WR AURa B
U -SARIBSU

ofl- e

A-Elslay

Sl-GURell v

Ans-d
23 Defluoridation method also known as

a-malgonda technique



b-nalgonda technique
c-bothaand b

d-none of the above

Bsc332et ugld uel 33 Ao 8
A-HENoSL dAsolls

o{l-otlcollost dsolls

Hl-vial A wa oll

Sl GuRall §¢5 ol

Ans-b

24 When deep bore waters are to be used for drinking purposes, testing for the dissolved
metals like

a-fluorides
b-iron
c-manganese

d-all of the above

2R 651 llRetl WRllell Gualol lallotl & HI2 &l 8, B 5 4O Ul
SETRE

U -SARBSU
AENEIE]
-2l

Sl-GuURall oLl

Ans-d

25 Which of the following priorities should be made when more than one possible source
is available for rural water supply?

a-reliability of the source
b-purity of water available in the source

c-ease with which the water from the source can be supplied to the consumers



d-all of the above

AR WS 5l dy AetlAd A Aller well yast v Guasd sl R ol Aell
58 YARsAA 5]l SN2

Alctoll Qatellaa

Al wellell gyt

-0, Boll Heedl Actniel wall aueslal yz wsl asia 8
Sl-GURell v

Ans-d

26 Which of the following are the reasons due to which potable water supply has not
been feasible to cover all the villages?

a-scattered and inaccessible nature of villages
b-non-availability of nearby water sources
c-non availability of adequate funds

d-all of the above

o{lAsttuiell sau sRENAR wul allal Al Aat Wi Ylateias well Yyasl s
otel?

aUHsAle(l AR(AWR wa golu ysla

b ol sail X A Aol GUELHU AL

vl elsloe(l fl-(Qet Gucoudl

Sl-GuRell ol

Ans-d

27 Rain water collection for direct use is than ground water recharge.
a-easy

b-difficult

c-simple

d-all of the above



Al GuaAdL 1R cRUestl WRlell 24018 efalel s Ru sl 8.
AS-AAN
ol-yc
Al AR

Sl-GuURall oLl

Ans-b

28 Rain water collection for direct use is___ than ground water recharge.
a-easy

b-impracticable

c-practicable

d-all of the above

Alul GuaAdL 1R cRUlesll WRllell 24oLe efalel s Rul sl 8.
AS-ARAN

ofl w3

A-Ysese

Sl-GuURail oLl

Ans-b

29 Rain water collection for direct use is___ than ground water recharge.
a-easy

b-costly

c-cheap

d-all of the above

Alul Gualol 1R aRAEsll WRllell 2oLe eatel n Ruf sl B,
As-AN

ofl wAln



A-ucdl
Sl-GURall oLl

Ans-b

30 The rain water collection for direct use can be practiced by collecting the water
coming down from the roof into

a-a storage tank of plastic
b-R.C.C
c-masonary

d-all of the above

Al Gullol Hi2 cruleall Wl 2atea 9ctHill oA utadl wellal AsAd s3la
Ylseu 53 asla ®

wllRsoll R 2isl

ofl-aR LA

Al-uldR

Sl-GuURetl ol

Ans-d

31 In sand filter size of gravel at lower level is
sllucl R sisloll 2l (3eeR seUl ®
a-50 cm

b-40 cm

c-30 cm

d-20 cm

Ans-b

32 In sand filter size of gravel at upper level is
Gucl R sisloll 2l (3eeR sEUl B
a-50 cm

b-40 cm



c-30 cm
d-20 cm
Ans-d

33 In sand filter size of sand at upper level is
G xR UR cdl Al (3eer sedl

a-50 cm
b-40 cm
c-30 cm
d-20 cm
Ans-d

34 In sand filter size of sand at lower level is
oflal = 3l 2l (3eeR sEHl B

a-50 cm
b-40 cm
c-30 cm
d-20 cm
Ans-c

35 In charcoal filter size of sand at lower level is
olaAdl R 2l Sl (3cer SEHL B

a-25cm
b-35 cm
c-30 cm
d-20 cm
Ans-a

36 In charcoal filter size of sand at upper level is
G R UR cdlall sl (3eex 5¢ B

a-25cm
b-35 cm

c-30 cm



d-20 cm
Ans-a

37 In charcoal filter size of gravel at lower level is
sllucl R sisdlotl sldA (3eeR sEHL O

a-25cm
b-35 cm
c-30 cm
d-20 cm
Ans-a

38 In charcoal filter size of gravel at upper level is
GRA R UR sis2Acll Sl (3cer SEHL B

a-25cm
b-10 cm
c-30 cm
d-20 cm
Ans-b

39 In charcoal filter size of charcoal between the sand and gravel is
cll wal sis3| A AR (3eeR 5€ B

a-25cm
b-10 cm
c-30 cm
d-20 cm
Ans-b

40 ____Isaprocess, by which the ground water reservoir is enhanced at a rate exceeding
that obtaining under natural conditions or replenishment.

_ A5 ylsa B, Vol gl ealel wniuaAd el WRRAMAA wadl 531 WS
E60 Yllcl $cll dYf €2 cllRalHl ud 8.

a-CWH

b-RWH



c-KWH
d-VWH
Ans-b

41 Which detailed information can be used for computation of estimated water
requirement for rural water supply scheme?

a-capacity of each water tap is 10 I/min
b-demand for school or a hospital may be taken as 45 I/c/d
c-loss through faulty joints and careless handling of taps may be taken as 25%

d-all of the above

ap{lel wiell yast Aegell 12 welRd wellell s3Rauldsdl ol ue s¢
(@Qotcdetr Wl Gulot 53 aslaL &2

wQllell €35 altell &tdl 10 AA / A2 B
ofl-2uol WUl slReA Mol Hiol 45 AA /7 Al / Sl 33 A asla ®

w12yt Al g vz Wl aoflalloll AeRs1R dos(Adla 25% 31E Acuui ucll
A &

Sl-GuURail oLl
Ans-d

42 For rural water supply scheme demand for a school or a hospital may be taken as
I/c/d

al{lel wiell YReast Aegell 12 ol Wl slRUzce{l Hiol l/c/dd3ls &S
asla B

a-55
b-45
c-65
d-75
Ans-b

43 For rural water supply scheme loss through faulty joints and careless handling of taps
may be taken as



ol well yReast Alosell M2 wiHlsc AUl gl ofsilet wal olo{lsll
AeRsAYds UAUAAR Uil AalHl A B,

a-30 %

b-35 %

c-25%

d-20 %

Ans-c

44 For rural water supply scheme, if the entire house is piped and provided with flush
system, then the per capita water demand may be taken as I/c/d

al{lel wiell Yast Alogell HIZ, %l Ay Hslol WU UAA Sl Ual sl ReH
UMl w1, A Hewels wellell Hiat 1/c/dd33 @8 asia

a-325
b-225
c-425
d-125
Ans-b

45 For rural water supply scheme, if the entire house is piped and provided with flush
system, then the per capita water demand may be taken as 225 I/c/d which can further
reduced upto I/c/d

ap{lel wiell Yetst Aegell HI2, %8l 4y Hslol WU UAAA sl Aal sl RreH
U HL U, A Heaels wellell Hiot 225 A 7 Al 7 S1 3y Qe 2ucdl ak ®
% [c/dydl ay ualsl ak 8.

a-325

b-225

c-425

d-125

Ans-d

46 Water demand in rural area for school with flush toilets ___I/c/d
a-100

b-75



c-65

d-80

Ans-a

47 Water demand in rural area for piped supply with kitchens __ I/c/d
a-100

b-75

c-65

d-80

Ans-b

48 Water demand in rural area for handpumps ____I/c/d
a-100

b-75

c-65

d-45

Ans-d

49 Water demand in rural area for school without pumping ____I/c/d
a-45

b-35

c-25

d-20

Ans-c

50 For rural water supply scheme, water carrying distance should not exceed
meters.

a-200

b-100

c-50

d-45

Ans-b

51 For rural water supply scheme, for every 200 people atleast ___ tap must be provided.
a-2

b-1



c-3
d-4
Ans-b

52 For rural water supply scheme, the design population for computing water demand
should be taken as ____times the present population.

a-1.5
b-1
c-2.5
d-3

Ans-a



